/* stepping motor controller */
/* PIC16F628A fHH  */

/*2014/07/24 by T.Inoue */

#include<htc.h>

#include<stdio.h>

__CONFIG(LVPDIS & BORDIS & UNPROTECT & MCLRDIS & PWRTEN & WDTDIS & HS);
#define _XTAL_FREQ 4000000 /* 4MHz */

#define JIKAN 3 /* msec */

#define n 25 [*bunkatsu*/

unsigned char g;

int  pl11][3]=H0,0,0},{-7,-10,0},1-25,-14,1},{-22,-24,0},{-28,-10,1},{-14,0,1},1-14,-13,0},1-18,-23,1},1-40,-
29,04,{0,-19,1},{0,0,0}};

/* {-18,-25,0},{-18,-38,1},1-28,-32,1},{-28,-42,1},{-6,-35,1},{-9,-28,1} {-5,-41,1}};*/

[*int pl13][3]={10,0,0},130,0,1},115,0,1},{15,-50,1},140,-45,0},135,-50,1},{55,-50,0},145,-50,1},150,-
50,1},{50,0,1},{55,0,1},145,0,1},{0,0,0}};

*/

/*int

pl18][2]=1{10,43},110,2},{15,22},{22,21},{23,2},{35,21},{34,0},{45,0},140,21},138,10},153,20},152,2},{60,2} {
60,22} {78,4},{77,21},167,0},{85,0}};

*/

unsigned char 1,j;

int k,m,u,v;

int xe,ye,sx,sy,sz;

ioport();

timng();
stop_x0);
stop_y0;
clw_x0;
uclw_x0;

clw_y0;



uclw_y0;
run_px();
run_mxo;
run_py();
run_myQ;
run_pxpy();
run_mxmy();
run_mxpy();
run_pxmy();

run_circle(;

main({

ioport(;

RAO=1; /*A % — I [ %/

while(1){

while(1){

while(1){

while(1){

while(1){

RA0=0;

uclw_x0;
if(RA4 == 0) break;
§

uclw_y0;
if(RA5 == 0) break:;
h

clw_x0;
if(RA4 == 0) break:;
§

clw_y0;
if(RA5 == 0) break:;
§

[*{EH] start®/
if(RA4 == 0) break:;
§



for(i=0;i<=10si++){

xe=pl[i+1][0]-p[il[0];
ye=pli+1][1]-p[il[1];
sx=xe*50/n;
sy=ye*50/n;
sz=pli+1][2];
if(sz == 0){
RA1=0;
for(G=80;j>05j--){
__delay_ms();

§

J

if(sz == 11
RA1=1;
for(j=80:>0j--){
__delay_ms();
H

H

if(ye == 0){
if(xe>0)run_px();
else if(xe<0)run_mx();
else stop_x0);

H

if(xe == O
if(ye>0)run_py0;
else if(ye<0)run_my0);
else stop_y0);

H

if(xe>0){
if (ye>0N
m=n*ye/xe;
run_pxpy0;

H

else if(ye<O){



ioportO1

timngO1

stop_x01

stop _y(){

m=-n*ye/xe;

run_p me() ;

H
}
if(xe<O)
if(ye>0){
m=-n*ye/xe;
run_mxpy();
H
else if (ye<O)
m=n%*ye/xe;
run_mxmy0);
§
b
j
b
RA1=0;
while(1){ [Fwait*/
if(RA4==0) break;
b
TRISA = 0xBC; /¥ 10111100 */
TRISB = 0x00; /* 00000000 */

__delay_ms(JIKAN);

/* stop x */

RB0=RB1=RB2=RB3=0;

I* stop y */

RB4 =RB5=RB6 =RB7=0;



clw_x0t /* x 1F#R

timng(;

RB0=RB2=1;RB1=RB3=0;/*0x05*/

timng(;

RB0=RB3=0;RB1=RB2=1;/*0x06*/

timng(;

*/

RB0=RB2=0;RB1=RB3=1;/*0x0A*/

timng();

RB0=RB3=1;RB1=RB2=0;/*0x09*/

uelw_x0f

timng();

RB0=RB2=1;RB1=RB3=0;/*0x05*/

timng();

RB0=RB3=1;RB1=RB2=0;/*0x09*/

timng();

[* x WilR*/

RB0=RB2=0;RB1=RB3=1;/*0x0A*/

timng();

RB0=RB3=0;RB1=RB2=1;/*0x06*/

clw_y0f

timng();
RB7=RB5=0;RB6=RB4=1;
timng();
RB7=RB4=0;RB6=RB5=1;
timng();
RB7=RB5=1;RB6=RB4=0;
timng();
RB7=RB4=1;RB6=RB5=0;

[* y 1IEH#A

/¥0101*/

/*0110%/

/¥1010*/

/¥1001*/

*/



uclw_yO1 [*y iR/

timng(;
RB7=RB5=0;RB6=RB4=1; /*0101%*/
timng(;
RB7=RB4=1;RB6=RB5=0; /¥1001%*/
timng(;
RB7=RB5=1;RB6=RB4=0; /¥1010%/
timng(;
RB7=RB4=0;RB6=RB5=1; /*0110%/
§
run_px0{
for(k=sx;k>0k--){
for(u=n;u>0;u--) clw_x0;
stop_x();
§
§
run_mx01
for(k=sx;k<0;k++){
for(u=n;u>05u--) uclw_x0;
stop_x();
§
}
run_pyOt{
for(k=sy;k>0k--){
for(u=n;u>=0su--) clw_y(;
stop_yO0;
H
H
run_myO1

for(k=sy;k<0;k++){
for(u=n;u>0;u--) uclw_y0;

stop_x0;



run_pxpyO{
for(k=sx;k>0k--){ [*-x+y 1IE#E*/
for(u=n;u>0;u--) clw_x0;
stop_x();
for(v=m;v>=0;v--) clw_y0;
stop_y0;
}
§
run_mxpyO{
for(k=sx;k<0;k++)1{ [*-x+y 1E#R*/
for(u=n;u>0su--) uclw_x0;
stop_x();
for(v=m;v>=0;v--) clw_y0;
stop_y0;
§
}
run_pxmyO{
for(k=sx;k>0k--){ [*+x-y */
for(u=n;u>0;u--) clw_x0;
stop_x();
for(v=m;v>0;v--) uclw_yQ;
stop_y0;
§
H
run_mxmyQ{
for(k=sx;k<0;k++){ [*-x sy */
for(u=n;u>0;u--) uclw_x0;
stop_x0;
for(v=m;v>0;v--) uclw_y0;
stop_y0;
H



